



Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		Step 15	
6 x 6 =	9 x 6 =	1 x 11 =	7 x 11 =	9 x 12 =	7 x 12 =
	7 x 9 =	10 x 11 =	8 x 11 =	12 x 2 =	12 x 8 =
9 x 9 =	/ x 9 =	3 x 11 =	11 x 5 =	3 x 12 =	1 x 12 =
7 x 7 =	6 x 7 =	4 x 11 =	2 x 11 =	11 x 12 =	10 x 12 =
		9 x 11 =	11 x 11 =	12 x 5 =	12 x 4 =
		11 x 6 =	12 x 11 =	6 x 12 =	12 x 12 =
700					





Name:

Class:

Step 13 - Six I	Fact Challenge!	Step 14		-	Step 15	
9 x 7 =	9 x 6 =	1 x 11 =	7 x 11 =		12 x 3 =	12 x 12 =
77	76	11 x 9 =	11 x 6 =		10 x 12 =	4 x 12 =
7 x 7 =	7 x 6 =	3 x 11 =	2 x 11 =		12 x 9 =	8 x 12 =
9 x 9 =	6 x 6 =	4 x 11 =	11 x 8 =		12 x 5 =	12 x 6 =
		5 x 11 =	10 x 11 =		7 x 12 =	1 x 12 =
		11 x 11 =	12 x 11 =		11 x 12 =	2 x 12 =





Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		5	Step 15	
7 x 9 =	9 x 9 =	11 x 11 =	12 x 11 =		12 x 2 =	7 x 12 =
		3 x 11 =	11 x 6 =		12 x 10 =	8 x 12 =
6 x 6 =	9 x 6 =	4 x 11 =	8 x 11 =		1 x 12 =	11 x 12 =
6 x 7 =	7 x 7 =	11 x 9 =	10 x 11 =		12 x 5 =	3 x 12 =
		11 x 7 =	11 x 2 =		9 x 12 =	12 x 4 =
		5 x 11 =	1 x 11 =		12 x 12 =	6 x 12 =





Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		Step 15	
9 x 9 =	9 x 7 =	1 x 11 =	6 x 11 =	12 x 12 =	5 x 12 =
		2 x 11 =	11 x 7 =	7 x 12 =	9 x 12 =
9 x 6 =	7 x 6 =	9 x 11 =	11 x 11 =	4 x 12 =	11 x 12 =
6 x 6 =	7 x 7 =	11 x 4 =	10 x 11 =	12 x 10 =	12 x 1 =
		8 x 11 =	12 x 11 =	12 x 3 =	8 x 12 =
		11 x 3 =	11 x 5 =	12 x 6 =	2 x 12 =





Name:

Class:

Step 13 - Six Fa	ct Challenge!	Step 14		Step 15	
6 x 9 =	6 x 6 =	11 x 4 =	6 x 11 =	12 x 3 =	11 x 12 =
		11 x 11 =	2 x 11 =	12 x 10 =	5 x 12 =
9 x 7 =	6 x 7 =	11 x 9 =	1 x 11 =	12 x 8 =	12 x 9 =
9 x 9 =	7 x 7 =	10 x 11 =	11 x 8 =	4 x 12 =	12 x 12 =
		12 x 11 =	3 x 11 =	7 x 12 =	12 x 6 =
		11 x 7 =	11 x 5 =	2 x 12 =	1 x 12 =





Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		Step 15	
9 x 6 =	7 x 7 =	11 x 2 =	11 x 11 =	12 x 8 =	1 x 12 =
	76	4 x 11 =	11 x 7 =	9 x 12 =	10 x 12 =
9 x 7 =	7 x 6 =	9 x 11 =	8 x 11 =	12 x 3 =	5 x 12 =
6 x 6 =	9 x 9 =	12 x 11 =	11 x 10 =	11 x 12 =	12 x 12 =
		11 x 5 =	11 x 1 =	4 x 12 =	2 x 12 =
		6 x 11 =	3 x 11 =	12 x 7 =	6 x 12 =
200					





Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		Step 15	
6 x 9 =	7 x 7 =	11 x 5 =	9 x 11 =	8 x 12 =	12 x 12 =
	67	11 x 6 =	1 x 11 =	12 x 6 =	12 x 4 =
9 x 9 =	6 x 7 =	11 x 11 =	11 x 8 =	9 x 12 =	12 x 2 =
6 x 6 =	9 x 7 =	4 x 11 =	12 x 11 =	12 x 7 =	5 x 12 =
		11 x 7 =	2 x 11 =	11 x 12 =	12 x 3 =
		10 x 11 =	11 x 3 =	1 x 12 =	10 x 12 =
700					





Name:

Class:

Step	13 - Six Fa	act Challenge!	Step 14		Step 15	
6 x	7 =	7 x 7 =	11 x 12 =	6 x 11 =	12 x 5 =	8 x 12 =
	•		5 x 11 =	10 x 11 =	7 x 12 =	10 x 12 =
9 x	x 9 =	6 x 6 =	2 x 11 =	8 x 11 =	1 x 12 =	12 x 3 =
9 x	. 7 =	6 x 9 =	11 x 9 =	11 x 7 =	12 x 11 =	4 x 12 =
			4 x 11 =	11 x 11 =	12 x 2 =	12 x 12 =
			11 x 1 =	11 x 3 =	9 x 12 =	6 x 12 =





Name:

Class:

Step 13 - Six	Fact Challenge!	Step 14		Step 15	
9 x 6 =	9 x 9 =	1 x 11 =	11 x 11 =	12 x 12 =	1 x 12 =
6 6	70	2 x 11 =	8 x 11 =	12 x 8 =	10 x 12 =
6 x 6 =	7 x 9 =	11 x 4 =	11 x 9 =	9 x 12 =	5 x 12 =
7 x 7 =	6 x 7 =	10 x 11 =	3 x 11 =	12 x 6 =	12 x 4 =
		12 x 11 =	5 x 11 =	3 x 12 =	11 x 12 =
		11 x 6 =	11 x 7 =	2 x 12 =	12 x 7 =





Name:

Class:

S	itep 13 - Six F	act Challenge!	Step 14		St	ep 15	
	7 x 7 =	6 x 6 =	2 x 11 =	6 x 11 =	1	x 12 =	6 x 12 =
	0 0		8 x 11 =	1 x 11 =	10) x 12 =	9 x 12 =
	9 x 9 =	9 x 6 =	4 x 11 =	11 x 11 =	12	2 x 3 =	11 x 12 =
	7 x 9 =	6 x 7 =	12 x 11 =	11 x 3 =	12	2 x 5 =	12 x 12 =
6			11 x 7 =	5 x 11 =	4	x 12 =	12 x 2 =
			10 x 11 =	11 x 9 =	8	x 12 =	7 x 12 =
×							





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14		Step 15	
6 x 6 = 36 9 x 6 = 54	1 x 11 = 11	7 x 11 = 77	9 x 12 = 108	7 x 12 = 84
9 x 9 = 81 7 x 9 = 63	10 x 11 = 110	8 x 11 = 88	12 x 2 = 24	12 x 8 = 96
9 x 9 = 81 / x 9 = 65	3 x 11 = 33	11 x 5 = 55	3 x 12 = 36	1 x 12 = 12
$7 \times 7 = 49 6 \times 7 = 42$	4 x 11 = 44	2 x 11 = 22	11 x 12 = 132	10 x 12 = 120
	9 x 11 = 99	11 x 11 = 121	12 x 5 = 60	12 x 4 = 48
	11 x 6 = 66	12 x 11 = 132	6 x 12 = 72	12 x 12 = 144





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
9 x 7 = 63 9 x 6 = 54	1 x 11 = 11	12 x 3 = 36
7 x 7 = 49 7 x 6 = 42	11 x 9 = 99	10 x 12 = 120 4 x 12 = 48
7 1 7 49 7 1 0 - 42	3 x 11 = 33 2 x 11 = 22	12 x 9 = 108 8 x 12 = 96
9 x 9 = 81 6 x 6 = 36	4 x 11 = 44	12 x 5 = 60
	5 x 11 = 55 10 x 11 = 110	7 x 12 = 84 1 x 12 = 12
	11 x 11 = 121	11 x 12 = 132 2 x 12 = 24





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
7 x 9 = 63 9 x 9 = 81	11 x 11 = 121	12 x 2 = 24 7 x 12 = 84
6 x 6 = 36 9 x 6 = 54	3 x 11 = 33	12 x 10 = 120 8 x 12 = 96
0 x 0 = 36 9 x 0 = 54	4 x 11 = 44 8 x 11 = 88	1 x 12 = 12
$6 \times 7 = 42 7 \times 7 = 49$	11 x 9 = 99 10 x 11 = 110	12 x 5 = 60 3 x 12 = 36
	11 x 7 = 77	9 x 12 = 108 12 x 4 = 48
	5 x 11 = 55 1 x 11 = 11	12 x 12 = 144 6 x 12 = 72
TUNE		





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14		Step 15	
9 x 9 = 81 9 x 7 = 63	1 x 11 = 11	6 x 11 = 66	12 x 12 = 144	5 x 12 = 60
9 x 6 = 54 7 x 6 = 42	2 x 11 = 22	11 x 7 = 77	7 x 12 = 84	9 x 12 = 108
9 x 6 = 54 / x 6 = 42	9 x 11 = 99	11 x 11 = 121	4 x 12 = 48	11 x 12 = 132
6 x 6 = 36 7 x 7 = 49	11 x 4 = 44	10 x 11 = 110	12 x 10 = 120	12 x 1 = 12
	8 x 11 = 88	12 x 11 = 132	12 x 3 = 36	8 x 12 = 96
	11 x 3 = 33	11 x 5 = 55	12 x 6 = 72	2 x 12 = 24
YUNE				





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
6 x 9 = 54 6 x 6 = 36	11 x 4 = 44 6 x 11 = 66	12 x 3 = 36
$9 \times 7 = 63 6 \times 7 = 42$	11 x 11 = 121 2 x 11 = 22	12 x 10 = 120 5 x 12 = 60
9 x 7 - 65 6 x 7 - 42	11 x 9 = 99 1 x 11 = 11	12 x 8 = 96
$9 \times 9 = 81 7 \times 7 = 49$	10 x 11 = 110	4 x 12 = 48
	12 x 11 = 132 3 x 11 = 33	7 x 12 = 84
	11 x 7 = 77	2 x 12 = 24 1 x 12 = 12





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15	
9 x 6 = 54 7 x 7 = 49	11 x 2 = 22	12 x 8 = 96	1 x 12 = 12
9 x 7 = 63 7 x 6 = 42	4 x 11 = 44	9 x 12 = 108	10 x 12 = 120
9 x 7 = 63	9 x 11 = 99 8 x 11 = 88	12 x 3 = 36	5 x 12 = 60
6 x 6 = 36 9 x 9 = 81	12 x 11 = 132	11 x 12 = 132	12 x 12 = 144
	11 x 5 = 55	4 x 12 = 48	2 x 12 = 24
	6 x 11 = 66 3 x 11 = 33	12 x 7 = 84	6 x 12 = 72
YUND			





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
6 x 9 = 54 7 x 7 = 49	11 x 5 = 55 9 x 11 = 99	8 x 12 = 96
9 x 9 = 81 6 x 7 = 42	11 x 6 = 66 1 x 11 = 11	12 x 6 = 72
9 x 9 = 81 6 x 7 = 42	11 x 11 = 121	9 x 12 = 108 12 x 2 = 24
6 x 6 = 36 9 x 7 = 63	4 x 11 = 44	12 x 7 = 84 5 x 12 = 60
	11 x 7 = 77 2 x 11 = 22	11 x 12 = 132
	10 x 11 = 110	1 x 12 = 12 10 x 12 = 120





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
6 x 7 = 42 7 x 7 = 49	11 x 12 = 132 6 x 11 = 66	12 x 5 = 60 8 x 12 = 96
9 x 9 = 81 6 x 6 = 36	5 x 11 = 55 10 x 11 = 110	7 x 12 = 84 10 x 12 = 120
9 x 9 = 81 6 x 6 = 36	2 x 11 = 22 8 x 11 = 88	1 x 12 = 12
9 x 7 = 63 6 x 9 = 54	11 x 9 = 99 11 x 7 = 77	12 x 11 = 132 4 x 12 = 48
	4 x 11 = 44	12 x 2 = 24
	11 x 1 = 11	9 x 12 = 108 6 x 12 = 72





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	St	ep 15	
9 x 6 = 54 9 x 9 = 81	1 x 11 = 11 11 x	11 = 121	2 x 12 = 144	1 x 12 = 12
6 x 6 = 36 7 x 9 = 63	2 x 11 = 22 8 x 1	11 = 88	2 x 8 = 96	10 x 12 = 120
6 X 6 = 36 / X 9 = 63	11 x 4 = 44	9 = 99	x 12 = 108	5 x 12 = 60
$7 \times 7 = 49 6 \times 7 = 42$	10 x 11 = 110 3 x 1	1 = 33	2 x 6 = 72	12 x 4 = 48
	12 x 11 = 132 5 x 1	1 = 55	x 12 = 36	11 x 12 = 132
	11 x 6 = 66 11 x	7 = 77 2	x 12 = 24	12 x 7 = 84





Name:

Class:

Step 13 - Six Fact Challenge!	Step 14	Step 15
7 x 7 = 49 6 x 6 = 36	2 x 11 = 22 6 x 11 = 66	1 x 12 = 12 6 x 12 = 72
9 x 9 = 81 9 x 6 = 54	8 x 11 = 88 1 x 11 = 11	10 x 12 = 120 9 x 12 = 108
9 x 9 = 81 9 x 6 = 54	4 x 11 = 44	12 x 3 = 36 11 x 12 = 132
$7 \times 9 = 63 6 \times 7 = 42$	12 x 11 = 132	12 x 5 = 60 12 x 12 = 144
	11 x 7 = 77 5 x 11 = 55	4 x 12 = 48
	10 x 11 = 110	8 x 12 = 96 7 x 12 = 84
TOOP		